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1. Define following:
I. Polymers
ii. Sonorosity
iii. minerals
iv. Alloys
V. Noble metals
Vi. Malleability
vii.  Ductility
2. Explain displacement reaction with example.
3. Write composition and uses of gun metal, duralium.
4. Silver is not used for making electric wires. Why?
5. Silver is used for making ornaments. Why?
6. Describe an activity to show that the metals are good conductors of electricity.
7. Define an ore. Write the names of ore of aluminium and iron.
8. When copper wire is dipped in a colurless solution of silver nitrate the colour of solution
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changes after some time and a silvery coating appears on copper wire.
a)Name the type of reaction involved
b)Write balanced chemical equation for this reaction.
c)Why does the copper wire appear with a silvery coating?
What is sewage?
Explain why is it harmful to discharge untreated sewage into Water bodies?
What are man-made fibers?
How you distinguish natural fibre and synthetic fibre?
How would you use the activity series while studying the displacement of hydrogen from
acids by metal?
Why is graphite not used for making electric cable?
Could you store 500 ml Zinc sulphate solution in an aluminum vessel overnight? Give
reason for your answer.
Growth of algae is harmful in water bodies why?
Give differences between Metals and Nonmetals based on their physical properties and
chemical properties.
Complete the reactions and write in words
a)2Mg + O2 >



b) SO2+H20 >
c) CuSO4 +Zn -
d) FeSO4+ Cu =
e) CuSOs+ Fe >
f) ZnSO4+ Fe >
g) Mg + 2 H.0>
h) Zn +2HCI>
19. What do you mean by tensile strength of material?
20. How are polymers classified? What are the raw material used to manufacture synthetic
polymers?
21.Mention three advantages and disadvantages of synthetic fibre over natural fibre?
22.Name 5 non-metals in gaseous form.
23. What happens when:
I. nylon is burnt.
ii. red litmus paper is dipped in magnesium hydroxide solution.
iii. blue litmus paper is dipped in sulphurous acid solution.
iv. Bakelite is heated.
24. Chlorination in water should be done with precaution. Why?
25.Explain that release of chemicals from factories causes pollution?

26. What is global warming?

27. What is acid rain?

28. Write any 5 metals in reactivity order.

29. As an individual, what methods can we use to save water?

30. If calorific value of wood is 20000 kJ/kg. Calculate the energy produced when 8 kg of wood

is burnt.
31. What are noble metals?
32. Give main uses of coal gas.
33. Give examples of thermosetting plastics?
34. What happens when synthetic fibres are burnt?
35. Write any two drawbacks of using synthetic fibres ?
36. Write any 2 major causes of water pollution?
37. Give characteristics of terylene.
38. What is PET?
39. Write any three methods to control fire.
40. What are conditions required for combustion?

41. How will you show presence of wax vapours in innermost zone of flame?
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What will happen if white phosphorus is kept open in air? Give reason for your answer. And

how can we store white phosphorus?

Explain harmful effects caused by using soap and detergents.

What is chlorination?

Explain sewage disposal plant.

How can pollution by industries be checked?

Name methods which we can apply at home for purification of water?
“Fertilizers are good for crops but cause pollution of soil and water.” Comment.
How can we recognize presence of pollutants in water?

choose the correct answer:

i. The moth resistant fibre is:

a. Silk b. Terylene c. Wool d. Cotton
I. Which of the following is used for coating on nonstick cookware:
a. Teflon b. Bakelite c. Melamine d. none of above

ii. Out of the following which is not a natural fibre:
a. cotton b. silk C. jute d. rayon

ii. which of the following has cross linked arrangement of polymers:

a. Melamine b.PVC c. Nylon d. Acrylic
iil. Potable water is free from:
a. Germs b.colour c.odour d. all the above

v, Metal with low melting point is
a. Gallium b. aluminium C. magnesium  d. iron

V. Nonmetal which is good conductor of electricity:

a. Sulphur  b. carbon c. phosphorus d. nitrogen
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Q1) Show that 5292 is not a perfect square.

Q2) Find the smallest no. by which 10125 must be multiplied so that the product is a perfect square.

Q3) Find the smallest no. by which 12096 should be divided so that the result is a perfect cube.

Q4) A metallic cuboids measuring 0.12x 0.09x 0.02 is melted and formed into a cube. Find the side of the
cube.

Q5) If 32*3=19683, find x.

Q6) Evaluate [4(27Y3 + 643)3

Q7) Harbhajan gains 5% by selling his old scooter for Rs6720.1f he sells it for Rs 6500,find his
loss or
gain.
Q8) Selling price of 2 oranges is the same as the cost price of 3 oranges. Find the gain percent.
Q9) The simple Interest on a certain sum of money for 3yrs at 5% per annum is Rs. 540 What
will be the
compound interest on that sum at the same rate for the same period.

Q10) Expand : {3x+ (-1/5) +2y}?

Q11) Expand : (6x-5y)3

1 1
Q12) Find x3+—3 if x+— =-6
X X

Q13) Evaluate using suitable identity: ( 1005)3

Q14) Factorise : 2x*+y?+8z2-2 V2 xy—4\/§ yz+8xz
Q15) The difference between the ages of two persons is 10 years.15 years ago, if the elder one
was twice

as old as the younger one Find their present ages?

Q16) The sum of two numbers is 2490.If 6.5% of one number is equal to 8.5% of the other, find the
numbers.

Q17) The difference of two positive numbers is 72 and the quotient obtained on dividing the one by the



other is 4.Find the numbers.

Q18) A transversal cuts two parallel lines . The interior angles on the same side of the transversal are in
the ratio 2:3.Find the angles.

Q19) Draw a line segment AB of length 7.2cm. Find a point on it such that it divides AB in 2:3
ratio What

Is the length of each part?
Q20) [IPQRS in which QR=5.7cm ,RS = 6.8 cm. If /P =75°and £Q = 105° /R = 85°

Q21) Two adjacent angles of a parallelogram are in 2:3 ratio Find the measure of each angle of the
parallelogram.

Q22) The length of each diagonal of a quadrilateral is 12cm.The diagonals also bisect each other at right
angles. What special name can you give this quadrilateral.

Q23) A shopkeeper mark his goods 10% above cost price and allows a discount of 10%.What
percent does he gain or loss.

Q24) The sum of two numbers is 45 and their ratio is 7:8. Find the numbers

Q25) The radii of two circles are in the ratio 3:4then find the ratio of their areas.

Q26) The areas of a circle and a square are equal find the relation between radius & side of the square.

Q27) What length of cloth 3 m wide will be required to make a conical tent with height is 16m and

radius of whose base is 6m?

Q28) The curved surface area of a sphere is 2464 sq cm. Find its radius.

Q29) Find the volume, curved surface area and the total surface area of a cylinder having base radius
10.5cm and height18 cm.

30) A shopkeeper marks his goods at 40% above the cost price but allows a discount of 5% for

cash payment to his customers.What profit does he make,if he receives Rs 1064 after paying the

discount?

Q31) What least number must be subtracted from 172250 make it a perfect square?
Q 32) Find the value of 10 correct to 3 decimal places.

1/3
216)°"° — (216)

-2/3

(216)

Q33)Simplify (

-2 -2 -2
Q34) (?j 3/4 when multiplied by (?] 7/ becomes [?j > find the value of x .

Q35) Evaluate :
a) (1.09)3 b) (99.3)



Q36) Evaluate [5(8Y3 + 27%/3 )3]1/4

-1331
2197

Q38) With which number you will divide 24696 so that it becomes a perfect cube.

Q37) Find the cube root of

Q39) Solve the following questions

AV oy
2. The histogram given below shows the ages (in years) of 50 teachers of a school.

18_|

Number of Teac

B

20253035 0 45 50 55 60

<«———Age (in years) ——>
(Fig. 15.5)

Look at the histogram and answer the following questions :

(i) What is the class size ?

(i) What are the class marks of the classes ?

(i11) How many teachers are in the age group of 30 — 40 ?

(iv) In which age group there are minimum number of teachers ?

(v) If 60 is the retirement age, how many teachers are going to retire in near future ?
(vi) How many teachers are in the age group of 20 — 40 ?

(vii) In which age group there are maximum number of teachers ?

Q40)A mobile phone is sold for Rs 3120 at a loss of 4% What will be the gain or if it is sold for
Rs 36407
Q41) Ashok marked his goods 20% above cost price and allows a discount of 18%.What

percent does he gain or loss.
Q42) A rectangular paper 11 cm by 8 cm can be exactly wrapped to cover the curved surface area of a

cylinder of height 8 cm. Find the volume of the cylinder.
2
Q43) The simple interest on a sum of money for three years at the 65 % per annum is 6750 What will be

the compound interest on the same sum at the same rate for the same period, compounded annually?
Q44) Simplify
a) (2c-3s-4p)? —(2c+3s+4p)?
) (2+2p-(2 -2
5 3 5 3
Q45) A radio dealer marks a radio with a price which is 20% more than the cost price and

allows a discount of 10% on it. Find the gain percent.

Q46) Find whether z2+3 is a factor of z°-9z.



Q47) Using division state whether y2-3 is a factor of 6y>- 28y*+ 3y2 +30y—9
Q48) Divide 3y* - 3y3- 4y2- 4y by y?- 2y
Q49) The length of one of the diagonals of a field in the form of a quadrilateral is 42 m.The
perpendicular

distance of the other two vertices from this diagonal are 12m and 9m.Find the area of the
field.

Q50) The rain which falls on a roof 18m long and 16.5 m wide is allowed to be stored into a
cylindrical

tank 8m in diameter. If it rains 10 cm on a day, what is the rise of water level in the tank
due to it?
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Q1. How did the Hermit elaborate his own statement * you have already been answered”

Q2. Why did the bearded man seek king forgiveness? What made the king grant his
request?

Q3. What similarity do you find in Granny and a child ?

Q4. Why did Swami’s father insist him to go to school?

Q5. How did Margie react when Tommy told her that 20" century schools had human
teachers?

Q6. How did the children in the 22" century get & do their homework? How was their
progress evaluated?

Q7. One lie led to another? What different lies did swami tell in the story.

Q8. Imagine you are Swami . Write a diary entry relating your experience with Samuel in
The school.?

Q9. What personal qualities of the mother does the child describe?

Q10. How did the struggle of childhood, affect the narrator’s life in the long run?

Q11. How did the World War affect poet’s life ?

Q12. “’But I have had my revenge at last. Today , she weighs twenty one stone’’. Of which

revenge is the narrator talking about and why?

Q13. Why is the phrase’ *Land of our Birth’’ repeated in the beginning and at the end of the

poem?

Q14. How would the poet like the children to rule themselves?

Q15. How did William Morris start his day in the shop?

Q16. How did the narrator’s power of observation help him in his hobby?

Q17. Why was Morris suspicious of the lady standing outside?

Q18. How did the young woman react on being caught red-handed?

Q19. What all did the narrator notice about the American?

Q20. Where did the narrator guess the ring would be? How?

Q21) Read the extract given below and answer the following questions:

“ Bangle sellers are we who bear; our shining loads ................. ”?

a.What does ‘shining loads’ refer to ?

b.Where are the bangle sellers taking the loads?

c.Which two phrases does the poet use to describe the ‘shining loads’?

d.What is the rhyming scheme of the first stanza of the poem?

i)ababcc i) aabbcc i) abcabc iv) none of the above.

Q22) “For happy daughters and happy wives.”

a.How many stages of a woman’s life does the poetess mention in the poem?

b.What are the qualities of the bangles which bedeck the hands of a house wife?

c.Mention one attribute of such a woman?

Q23) My grandmother was a genius. You’ d like to know why?..................

a)Why was the poet’s granny a genius?

b) Mention the name of the poet.

1) Ruskin Bond ii) Joseph Rudyard Kipling iv) Sarojini Naidu
¢) What is the rhyme scheme of the poem?
i) aabb i) abab iii) abcb
Q24) But when | report the matter to the insurance company, I shall have to inform



them that | made a thorough search — even on you, sir, if you will excuse me !

while this was happening another customer came in.

a.Who is ‘I’ in the first line? Whom is he talking to?

b.‘report the matter’. What is the matter being discussed here?

c.Why is he asking for a thorough search to be made on the person being spoken to?

d.Who is the ‘another customer’ that came in the shop?

Q25) ““ Sea waves, golden sand pilgrim’s faith, Rameshwaram Mosque Street, all merge
into one
My Mother!
You come to me like heaven’s caring arms.”

a.Name the poem and the poet?

b.What images flash across the poet’s mind as he remembers his mother?

c.What has the poet compared his mother’s care to?

d.Which figure of speech or literary device has he used?

Q.26) ‘Tis’ with our judgments as our watches, none

Go just alike, yet each believes his own.

a.Bring out the similarity between judgments and watches?

b.What does each one of us believe?

c.Why are judgments compared to watches?

Q27) ‘When at midnight I woke with tears falling on my knees
You knew the pain of your child, my mother
Your caring hands tenderly removing the pain’

a.Who does ‘I’ refer to?

b.What pain is the speaker talking about?

c.How old was he at that time?

d.Which two qualities of his mother is the speaker talking about?

Q28) Imagine you are the narrator . your conscience pricks you for having accepted the
undeserved credit of getting Baldev’s son acquitted. Write a letter to Baldev
expressing your guilt over accepting the honour that you did not deserve.

Q29)Imagine yourself to be Willam Morris. Write a diary entry on how you suspected

the young lady to be the culprit?

Q30)The hermit listened to the king but answered nothing? Why?

Q.31)What problem would the narrator have faced at home with the arrival of the district

officer?

Q.32)How has the middle aged woman helped in the development of the human race?

Q.33)What is meant by the line ‘some are like the field of the sunlit corn meet for a bride

on her bridal morn’?

Q34)Why was the author panicked when she mentioned caviare?

Q35) The narrator refused everybody point blank to get them any favour from the district
officer. Why couldn’t he refuse Baldev in the same way?

Q36) “Who will buy these delicate, bright

Rainbow tinted circles of light ?”

a.Who is asking the question above?

b.What are they referring to?

c.Do they answer the question ? write their answer?

Q37). Why did the wounded man want to kill the king ? Why did he feel guilty at the end?

Q38). No maimed or worthless sacrifice?

a.What does the poet mean by worthless/maimed sacrifice?

b.Which figure of speech is used here?

i)Simile ii) metaphor iii) personification

c.What is the rhyme schem of the first four lines?

i)aabb ii)abab iii)abch



Q39). Why does the author of the ‘The case of the sharp eyed jeweller” consider his hobby as

out of the ordinary?

Q40) Describe William Morris’s observation of the two thieves?

Q41) As Swami write a diary entry about how you were caught in a dilemma between
your father and your teacher.

Q42) The narrator visited the District Officer after considering a few factors. What were
they?

Q43) “Age is just a number. It can’t be a hindrance for learning?” Justify this by giving

examples from the poem- Granny’s Tree Climbing.

Q44)According to you, who is the real humorist in the lesson- The Luncheon.

Q45) How do the colours of the bangles represent the phases of a women’s life?

Q46) What does the poet of ‘My Mother’ remember about his life during the war days?

QA47)Mr Regnier was thankful to William Morris. But what was Morris’s reaction?

Q48)Why does Mrs Hill think that Mr. Hill has changed a lot?

Q49)What does the poet ask God to teach him in order to serve his motherland?

Q50)Do you think that the dream really affected Mr Hill personally?
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1) In which year sati system was banned.

2) Widow remarriage act was passed in the year

3) Who presided over the first session of Indian National Congress?

4) Name the viceroy who presented the plan for the partition of the country.

5) Who helped the Indian Government to convince the princely states to join India?
6) List six main features of India’s foreign policy.

7) Describe the police organisation of Cornwallis.

8) Write a note on Subhash Chandra Bose.

9) Why did the British introduce railways in India?

10) List three demands of Moderates.

11) Describe the impact of reform movement on India.

12) Mention any five positive effects of British System of Education.

13) Describe any two mass movements that contributed to intensify the struggle for freedom.
14) What were the main features of the Indian Independence Act of 1947.

15) Describe India’s economic progress by highlighting the major achievements

CIVICS:-
16) What is a coalition government ?
17) Who is the ex-officio Chairman of Rajya Sabha?
18) What does an Independent Judiciary mean?
19) Mention any three advantages of the Mid-day meal.
20) What is meant by political safeguard? Who are the beneficiaries of this policy.
21) What is Marginalization?
22) What are the main powers of the Prime Minister of India?
23) Explain the emergency powers of the President of India.
24) Describe the powers and functions of the Supreme Court of India.
25) ‘India has a single unified and integrated judicial system’. Explain.
26) Write a short note on Public Interest Litigation.
27) Explain the main provisions of Prevention of atrocities Act , 1989 for the SC/ST.
28) Who are the Bishnois? How have they preserved the rich culture of the Adivasis?
29) Who are Musahars? What was their traditional occupation? Why are they referred to as
‘Dalits among the Dalits’?
30) How is the Vice President elected ? Mention his powers and functions.
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Petroleum is referred as ‘black gold” Why?

Define mixed farming.

Name 2 Agro based industries.

What do you mean by density of population?

What is an ore? Give 2 examples.

What do you mean by biotechnology? What is its use?

Which city is known as Manchester of India and why?

Name 2 states with high density of population in India and why?

Distinguish between Metallic and non- metallic minerals.

Name 2 beverage crops and what are the geographical conditions required for their

production?

. Classify industries on the basis of ownership and explain with examples.

. What do you mean by industrial region? Name 4 major industrial regions of the India.
13.
14,

Mention 2 physical factors affecting the distribution of population.

What is the need for conserving our mineral resources? Explain the various ways to
conserve them.

Mention 5 features of plantation agriculture.

Explain the advantages that Jamshedpur has for the development for the Iron & Steel
industry

Define Sex Ratio. Why is Sex -ratio declining in India. Give 4 reasons.

“ Bengaluru in India is a centre of information technology”. Discuss.

What are the main features of subsistence Agriculture? Discuss its types.

Name non- conventional resources of energy. Which 2 energy resources can be used in
future in India? Give reasons to support your answers.



DAYANAND ANGLO VEDIC PUBLIC SCHOOL, AIROLI
QUESTION BANK (2017-18)
STD: VIII SUBJECT: BIOLOGY

1. Which cell organ is called as- a. Power house of the cell b. Kitchen of the cell
2. Draw a neat labeled diagram of a plant cell and name the parts.

3. Classify the following terms into cell, tissues and organs and write int he tabular column given
below.

RBC, WBC, Nerve cell, Blood, Muscle, Blood vessels, Brain, heart, hand
4. Read the following statements and write the appropriate term against each statement:
a. | control the functions of the cell. Who am 1?

b. I am like a policeman. | do not allow anything and everything to get in and of the cell. Who
am 1?

c. | transfer characters from parents tooffsprings. Who am 1?
5. Fill in th eblanks with the terms given below:
Nucleus, chromosomes, cell wall, cell membrane, protoplasm, ribosome, cellorganelles

The outermost layer of plant cells is the @ beneath which is the (b)_.The
term (c) refers to the jelly-like substance containing all the _ (d) . The
(e) contains thread —like structures called __ (f) :

6. The term metamorphosis is not used while describing human development. Why?

7. Mother gives birth to a baby, but the baby has characteristics of both parents. How is this
possible?

8. How is reproduction in hydra different from that in amoeba?

9. Hens and frogs are both oviparous exhibiting different types of fertilization. Explain.
10. Write about the developmental stages in hen.

11. Why do frogs produce a large number of gamets?

12. Differentiate between the following:

a. sexual reproduction and asexual reproduction

b. Embryo and foetus

c. Egg and sperm



13. Why is reproduction important?
14. Differentiate between external fertilization and internal fertilization

15. What is incubation?

16.Mention the layer outside the plasma membrane of a plant cell.
17.What is a cell? Name the longest cell in human body. Draw its diagram.
18.Write the functions of a. Mitochondria  b. Nucleus

19.Where are chromosomes found in a cell? State their function.

20.What is the function of Golgi bodies?

21.Cells are the basic structural units of living organisms. Explain.

21. Ribosomes are found in :-

a. plant cells b. animal cells C. viruses d.onlya&hb
22. Egg of a hen represents a:
a. Single cell b. Double cell c. Multicell  d. None of these

23.The Biggest cell is :
a. Hen’s Egg b. Ostrich egg c. Nerve cell d. None of these
24.Cell which changes its shape:
a. Amoeba b. RBC c. Both of these d. None of the
25.Give one word for the following: -
1) Scattered in the cell are many small structures called

ii) Power house of the cell -

iii) Control entire of the cell -

iv) Plastids containing chlorophyll -




DAYANAND ANGLO VEDIC PUBLIC SCHOOL AIROLI
SUBJECT: SANSKRIT [2017- 18]
STD: VIII QUESTION BANK

1o STETFREC TENST UFS@T TAETERA YA ST ferag

Y JAETO, A TGO WAl | S e A YW S| g 4
UG A | o T AR = G BRI JETT e dai=d | HIZTAMHM, S8 J
ST AT YR : WAl | JETTHT Yaiiastel : Ta Sid Yarid ward | Jrad 39 Jaaon
AU AT < T 9 : T TRavory T S, AT JETImH, AR HAT |
2 9JEE T 3P S - AEYgH A |
&) THuaA Id-
1) 3 b giod wafa ?
2) 9JE& TATETIM HY SEAE A= AGFFE AT 7
3T ) ofae’ Seitd-
1) THERURT T g9 B ARG 7
2) T g a1g: Uiy : Wt 7
g) AL I~
1) ‘wafeream: ’ gf fopamie #ue T 7
2) ‘st * 2 ver faore ug foRe 7
3) ‘oige ’ 30 w2 fowm ug foae 7
&) T HEET 3R T 3 AEAMOE & O,
2. TYTY: farew s fiveaw Fraemay geErE gid e SRR gEd-

Qe

(1)
i (i)
(iii)
At (V) AT AT (V) ferare : g wfeef |
AT Rl (Vi) |3 wed (Vi) ERETE
@ (viii) AT |
fafer: (i)

gaEE: (X)_
%I

Too[al- W1, THTATEHRIEAT :, THeAfd, e, 15 /09 /2014, T, Fee, fFgaw, Aet yom , SEg,




e HMCARIAY ATEIY Tk UaY Hieiferesed el A4 gl 79 Jear ™ fowd-
T, 919 : q89eR; 3 e |

;)) vad: = Td_Ard 7
)

3) A TS : YT deeH TarAEI |

4o FEORET FaTE GfSET AoouIa : TaT foren Rew i geaa-
T A1) 7

: 37EH q YT 2) T ¢

:3) e 4) e : A 7

: 7 T 5 ) AT ST 7 30 |

: W] W R ) 6) eTUe : Hiw |

: Ha : [ 37T 7) PG : AT !
:8)
: 3T A T 9) T |
10) HITES |

34 4 43 4 3 3 4 3

T[T - AT, IR, [T, Ual, 95d9edl, Fedl:, ad, aeqH, Hid,
5o (31) forepeuwr: Sfad ey e Ty Recramii g -

1) 3 At CIES|

(31) &= (21 )z @ (@) W

2) UARR AR _ ¥ 9 A |

(31) gf: (3)37a: () gFram () T
3) T s T

(37) T (31) T G wm ()T
%) T g el

(31) (3) wer @) wat () w:



5) Her: TR |

(1) dvammeam | (31) Seav (3) v () g
6) A ST TE T |

() (1) 7w (@) () i
6 ST T 0 fore Reea e -
1)___ e e fe s

(7) o (@) () wEEm ()
2) i e o e

() 7. (F)ma (3) W () =
3) AT %l WA ?

(31) 7@ (FF= (3) @™ €) =
7. T Sfed gy e arey Reaqer iy aa |
1) warseme® _ gs garal o (g / g/ g
2) amfae: s Fn:rasfri%rwl(:rw{ / w|®m /) TE)
3 wmal (fogm: / fmm: / few)
&) feame™ e Al | (mgwm / JegEm [/ A
5)@u®m: _ foefd | GIEE /g gh)
6) w: T | (m ) wm /)
7)) M 9 A (Forer / fug: / Tar)
8) I EH UM (argem /@A /)
8« (31) meﬁ%&:ﬁgmﬁ
1) e (10) e A
2) T FH (50) BOHIOT A |

) SR aEaEYE e : faar foea-
1) 7 T M Hiedh o |

(31) = (1) = G & @)%
2) fRemm TgITT et |
(=) e (1) Aifor ) 7= () =

9. I T 0 : Rt S TRor-

1) o B 3 |

2) 3T U e |

3) 7T @ AT e s s |
T (3, 9, )



10+ SEARTA Y (b I&HT ST Jo® Fl forag-

1) A T ATl 2) e 7e aRerid |

3) ST AGARI BT T |

11 FNATEAY AR fewfed s 9 -

1)ud: THg): BT H10T: ST |

2 )79 T ST U, i : 31 |

3) 9AF 4R SEIed : A |

&) FATIEHA FAT BT : 7 dei |

5) U ATHT : garT: A |

120 FEMARIAY T T4Y I ferwiferd T SBrRom T ferr -

1) SEW Fd 7 qfR: | 2) A s TEd |
3) WA PEAT | 4) gER U MY g |

13 THEYEHI GUE T foad |
1) ToEEs 2) FomEa: 3)TEAE

4o HISH Ja0y Gy Sfd &9 fan feraa-

1 )ArgE: = |

(31)%@)?[ (1) foem (3) foreeg: (3) foem

2) 3 F9 [ TTEIA |

(;’T,)ﬁw () =mf (3) = &) =

3)7 : |

(#) g (9) =M (5) sl (F) 79

&) e : a2 3 |

(1) @umg  (F)do=mEe (3) @ (3) @oE

5) 38 WA AT |

() g (&) Fe () ®W@ @) #EW

15. HISH Yy AgENY Sfad &4 frer fergd-

1) J& &Rar: ga: 11k AR 1 A 1 2 )

2) AT arfereRT T | (Fmefa /) foma: /) ferata )
3) femer: ugd: A |(ag |/ @aam /| @)
&) T g9 (s [/ wmd [/ w )

5) JT9 Hed Y7 FEI | (@& ) @/ @A)
6) 31 fEm o | (wfgem: / afgenfy / @tgem:)
7)) YR : FA | (@ /  ogwn: / odew)
8) T QTfeTahT iem | (T@afle /  TEEa: / T@Eta)

16+ STENTOIRA ATy Topia-Ied! Fared fawee a1 feaa-



1) T feerand e arm gferaf= |

)
)

2) 7 FEr g 93T (ATt 3t |

3) 3 Hdel HH (7 +aan) T Ao H |
4) 92/ : U1 : Igared (TeIm) AT A |
170 SENATIAY T.Bel 9 TgFirvier qem RO 7 forer -
1) St BB fayaEtd |

2) &Y Y @D : B |

3) darete: JRId afe: diew: |

&) U gHE a5 T |

18+ AT TS QiSET IR ST forae |

Uehel THRA aH Teh: 27Tl WIoT GIGqH, 3oviel s Woiel | dad 1 quebmon 79 go2al
A e Fawaale | T quds-SEs T g6 o2 : I | e : qUHAE ATHNT |
T 38 A : U [0l TG i | F: el : fepfad famrin quebmn faem afe
T gfl IeEtten g foreefd |
) THIEA Iavd -
1) &: qua Tnieq fawaf 7
2) el : &, Uiel TEATe g fereafer ?
3T ofaeee Said-
1) YUEH-TIER T HIET: AR |
) Feagar Sot-
1) ‘TR Y 3 fadr ug foe ?
2) ‘@’ 3 v &: fqwata: swE:?
3) ‘q: TuHT e Tl Teefy | sur sreEg {7
4) ‘FBU 3 W F: UG AT
19, SrENTeTee qeisl i I S o |
G TR TR R TR SR |
feremmes R SrorCqeT g R STl | |
%= ThUeT Iad -
1) AT FH U T 3BT 7
2) e o fop iR ?
G- YOI IR -
1) e w9 fop i 7
T- FMEIER ferea -
1) ‘swEr i ue e 98 fe?
2) ‘gyar s A% 6 98 TgEm !



3) ‘fEr zfq @ @ i ?
&) ‘TRd 3 ug Afefoess e
20. e er: Towa A9 @ | TR G ga: |
TEf~T G ARETeT: TN &l foreged: | |
%- T I -
1) & FEHAT 99 7 FE !
2) & i | fuatd 7
G- Qi SEd -
1) WYHEE Fal fqe: 7
- fRengar ferea -
1) ‘qar 3T 9 i ferfer:?
2) ‘Tt g9 @ fop ug ygeEm?
3) ‘@l ue %: w7
%) ‘wEwa | 3 ug Atufress f6m?
21. R WHeiE gR T |
M I ARAEIeded Tt | |
%~ THIeT Sad -
1) g & A9 FE !
2) THA B AT A !
G- QO S -
1) & -%& W& 37 7
T- FdIgEr ferea -
1) YEIS AT 9E e forga ?
2) ‘BRT: PIEEAAT AN 3T B 3 U 9 O o7
3) ‘T 3 IS & b7
%) ‘WwEEIGded | 3 ag afufress fm?
22, FfoRdr: gai: afeer TErenRar IR Sarf ferag |
Starg faAeaeT: gEfa ge: | |
) THYeA Jad -
1) &Y 92 g 7
2) AT & YN g2 W 7
3T) qofaTe’ SaRd-
1) @97 FUTeH 92 9T 7
) FMEIgER Sora-
1) 'Sty e g g2’ st g sy e 7
2) TR FFAUE !




23. T : Feril: YTSET TRTENRar MM, S foeeg |
THIARIG § TN & FEI 7 |
&) T@HRA I -
1) AT H% dRadw 7
2) IHH B WAt 7
3T ) Ui Ieiia-
1) Fehad H IRad 7
z) FagER Sara-
1) ‘g’ 2 e foem ve fo 7
2) ‘SHaERad~ § @M T gE 9 3 e e
240 AT el IS A, Ieer ferad |
0T : - frgraTeterer Aee T e |
g : - AcoTda IeRom e |
feirer: - oserde feronporon ferfae |
A : - HIar] T HESA fferar 9 |
AT - foh [ Faler : AESTaA T : T s 3 o SHT 7
fode : - M AGde, gde , FAIITE , U aEArEA , S9HE-9TE
Fergda :, femmfas @ o fowar: wwg fafaarn: af |
U : - R YR : T7: % ARG &: 9 a & 7
TET: - “sreereArdl” 2 enevr gtes: T AR | Wi g qurar S|

A : - A, R : AT FARTSR AT T 39 99Tl AR | 3
] HH A 4R UT | A v [9a=t UTeia™T Ard
AR | = Frepd qWIAET: F Yo SR Tl [MiRde 310 |
THYa I -
1) forgaretas weree & farafd afa?
2) feomt fop Jraee, fradar 7
Wﬁ'&'—rw
1) T T : AMaSamERe : H-H T G F5d frgan a7
2) TJ9aw TrEIeAT AT & AR 7
Mg Saa-
1) ‘e T e vedr: fasmg fo s 7
2) ‘g 2 ug @ iRt s 7
3) ‘g i wer faaars o |
4) ‘%: AR & T TF T A AR T 3T IE TG !




25+ STETARIAN SAIHI YTSET Reqe I Lad-
Toit Tof afy 7 Af FRegor: | |
ary - O e &G S e A | : ORI a1 S
T &I 7 ST |
- R S fagw: o
St Faraeasr: gefd e | |
AT - TEHT TaA Tg 9 e YR Haly | TR 3 et v gd

ot =i L Sfer A

- 3 : gRa: Tq e I HU | T T TR
q: 1 yasiH & | @t : o 9 =i T g

Too- fagim:  faem w2 s




DAYANAND ANGLO VEDIC PUBLIC SCHOOL, AIROLI
PHYSICS QUESTION BANK (2017-18)

CLASS vill

Answer the following questions :
1. Give two uses of lens.
2. A pond appears shallower (less deep) than it actually is. Give reason.

3. Define incident and refracted rays.

4.A beam of white light is incident on a triangular glass prism. It gets split into a band of seven colours.
Represent this in a diagram. Which colour is deviated the maximum?

5. Give one example of natural effect of dispersion of light and explain it.
6.Define focal length of a lens.

7.Why is a convex lens also known as converging lens?

8.Explain the focusing action of a convex lens through an activity.

9.Which lens is used as a magnifying glass? Draw a ray diagram to show the nature, position and size of
the image formed by it.

10. Which lens gives a diminished, virtual and erect image always , irrespective of the position of the
object?

11.Find the absolute refractive index of an ordinary glass if speed of light in glass is 2x108 m/s. (Given
speed of light in vacuum = 3x108 m/s)

12. A coin, not visible before , becomes visible after some water is poured into the cup. Explain with the
help of a neat diagram.

13.What will happen to a ray when it goes obliquely from an optically denser medium to an optically
rarer medium?

15.Justify the statement giving example’ Refractive index of a medium is an indicator as well as measure
of its optical density.’

16.Define a spherical lens.
17.Can a mirror and the water combination act like a prism? Explain.

18. A convex lens of focal length 20 cm is given. Draw a ray diagram to show the nature , size
and position of the image obtained if the object is kept at a distance of 25cm.

19.Explain the cause of friction with an example.

20.Name the factors on which atmospheric pressure depends.

21.With a diagram explain the electrolysis of tap water.

22.Handles of bicycles are electroplated with chromium or nickel. Why?



23.What type of wave is generated during an earthquake?

24.The soles of old shoes are worn out. Give reason.

25.Distinguish between contact force and non-contact force. Also give an example for each.
26.At airports even small children are able to carry alone their suitcases easily if they are fitted
with wheels. Why?

27.What are electrolytes?

28.What is an earthquake? List the effects of an earthquake.

29.What is electro-magnetic induction? Write the observations of the activity conducted on
electro-magnetic induction?

30.Railway tracks are laid on large sized wooden or iron sleepers, why?

31.What is cataract? How can it be corrected?

32. Distinguish between tactual and auditory aid.

33. When lightning and thunder occur together, why do we hear thunder a little later after seeing
the flash of light?
34. Name two planets which are near to the sun.

35.What are artificial satellites? Name any two uses.

36.What are asteroids?

37.How can you take care of your eyes?( 3 points)

38.State three harmful effects of noise pollution.

39. Write three main parts of human ear. Mention one function of each.
40.How is a strong electrolyte different from a weak electrolyte?

41. Draw diagram of orion and label Betalgeuse and Rigel.

42.What is full moon day?

43Name the planet which rotates from east to west.

45.What is the cloud-cover of Jupiter made of?
46.Why Uranus appears bluish-green?
47. Explain the principle used in cinematography or motion-picture projection.

48.When does a comet become visible?

49. A student sitting on the first bench of the classroom is not able to see the writing on the blackboard
distinctly. Name the defect of the vision the student is suffering from and name the lens used for
correcting the defect.

50.With the help of diagram explain the working of the human eye.



